[image: image1.png]Section B (60 marks)
Answer all questions from this section in the separate answer book.

8. In a common spreadsheet package, SHEETA!A1:C4 refers to the cells, rangmg from Al to C4 on the
worksheet named SHEETA.

Ms. Wong is an Engllsh teacher, and wants to give a final grade for each student at the end of the academic
year. There are totally 8 composition exercises given to students within the academic year. Each exercise is
given a mark ranging from 0 to 100, and the passing matk is 40.

She uses the following worksheet MARK to record the marks of the 8 exercises for each student:

Total
Number of
Exercises

Exercise Number. Average Mark

Iﬂﬂllﬂﬂlﬂ
My [0 [0 0|50 3 [or [45]70] 500

ooor oz [ s [s0 78 [w o [m0| 720 | ms | m
mmmmmm-

_EE
[Jene [0 [ 34 |50 |45 o7 |oaes[oa] av1 [ 447 |

There are two methods to calculate the average mark:

B For method 1, the average mark (AM1) of a student is the average of the 8 exercise marks.

M For method 2, the average mark (AM2) of a student is the average of the 6 exercise marks, excluding
the highest and lowest exercise marks among the 8 exercise marks.

Student
Name

Final Mark

The greater one of AM1 and AM2 is taken to be the final mark of a student.
Take Mary (the first student) as an example:
AM1 = (40+60+63+56+34+61+45+70) + 8=153.6

AM2 = (40+60+63+56+61+45) + 6 = 54.2
The highest mark (70) and the lowest mark (34) are both excluded.

Hence, the final mark is 54.2 .
Three formulae are entered into cells J3, K3 and L3 to calculate the corresponding AM1, AM2 and final

mark respectively (all correct to 1 decimal place). The three formulae are then copied into cells J4 to
J41, K4 to K41, and L4 to L41 respectively.

(a) Write the formulae in the following cells:
i 13
(i) K3
(i) L3
(5 marks)

Furthermore, in order to find the total number ‘of exercises that each student passed (the passing mark is
40), a formula is entered into cell M3, and then copied into cells M4 to M41.

(b) What is the formula in cell M3 ?
(2 marks)
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Overall average mark

(c) Ms Wong wants to display the final mark and the total number of exercises passed in columns B and
C respectively in worksheet GRADE.

(i) She enters a formula mto ‘ceil B3 and copies it into cell C3 in worksheet GRADE. Then
formulae in cells B3 and C3 are copied into cells B4 to B41 and C4 to C41 respectively. Write

the formulae in cells B3 and C3.
(i) Besides the method in (c)(i), she can only usé ‘copy and paste’ to complete this task as well.
Describe how she can do thls task
'(4 marks)

She correctly enters a formula in cell B44 to find the overall average mark.

The final grade (a, B, € or D) for each student on worksheet GRADE is decided by certain criteria. M:s.
Wong initially sets the criteria as shown in the following table:

Total number of exercises passed |

> overall average mark
< overall average mark

(d) Ms. Wong enters a formula into cell D3 and then copies it into cells D4 to D41 to assign final grades
to her students. What is the formula in cell D3 ?

(3 marks)

(e) Ms. Wong has good knowledge of both spreadsheet and database packages which have been provided
by the school. However, she chooses to use a spreadsheet package to complete this task. Give two
reasons to support her choice.

(2 marks)

(f) Ms. Wong would like to check whether the final marks of any two students are equal in column B,
She wants cell E43 to display the check result: ‘YES’ or ‘NO’. Describe how she can do so.
(4 marks)




[image: image3.png]An international trading company, HKEAA, has many regional offices around the world. HKEAA has
offices in Seattle, London, Hong Kong, Beijing, Tokyo and Melboume and the respectlve domain names
(DN) of their web sites are shown in the follow wm'ld map ]

Seattle ~
DN: hkeaa.com

London
DN: hkeaa 0. uk

o «é,Beij‘ing ,
DN: 'hkegg.com.cn

Tokyo ‘
DN: hkeaa.co.jp

Hong Kong
DN: hlc‘éag;com.hk

Melbourne
DN: hkeaa.com.au

Peter is a senior manager based in Seattle. He is in charge of product developméﬁt, which involves staff
~ from many regional offices working on different tasks.

(a) What type of software would you recommend to Peter for the dally planning, scheduling and tracking
of different tasks which at the same time can allocate and cost available resources efficiently among
different offices?

(2 marks)

Peter creates an electronic file cabinet for the staff so that they can deposit and_rvetrieve any relevant
documents over the Internet.

(b) Suggest four criteria that Peter should consider when he selects a storage device for the electronic file

cabinet.
(4 marks)

In order to avoid 1eakage of these documents to non-relevant HKEAA staff and the public, Peter gives
each user a distinct access identity code and asks them to choose thelr own password.

(c) (i) Write down three guidelines for Peter to instruct the users on how to choose more secure
passwords.

(ii) Despite this, some users still disclose their identity codes and passwords carelessly. Suggest two

other types of access control that can help Peter to prevent, unauthonzed access.
(5 marks)




[image: image4.png]The employees, of HKEAA use the same operating system with different regional languages such as
Chinese, English and Japane .jfé“.‘ * However, some employees will travel from one regional office to another
and occasionally use the operating system in other regional languages. . '

(d) (i) Suggest one type of user interface that Peter should adopt in order to facilitate the staff training of
system operation.

(ii) Some employees are not familiar with the. keyboard input method. of the regional language of the
operating system. = Suggest another input method to solve this problem.” Give one advantage
and one disadvantage of your suggestion. o ‘

(3 marks)

(e) Peter uses the URL, http://msg.hkeaa.com, to send email to David, whose email address is
david@hkeaa.com.hk. Name two types of servers needed for. the successful transfer of email. .

(2 marks)

(f) The chief executive officer of HKEAA wants to promote the company as a whole and asks the IT
department to change the domain names of the web sites of all regional offices. Three plans are
outlined as follows:

www.hkeaa.com, . . .
web server located in Seattle .
www.hkead.com.au
web server located in Melbourne -

web server located in Tokyo |- o ~ ,
www.hkeaa.com.hk - www.hk-hkeaa.com '
web server located in Hong Kong ' \

() Suppose Plan C is adopted. Suggest one method that the existing web servers will not be
physically relocated from the original setup.

www.us-hkeaa.com | www.us.hkeaa.com | www:hkéaa.com/us

www.au-hkeaa.com | www.au.hkeaa.com | www.hkeaa.com/au

(ii) For each plan adopted, will HKEAA need to register new domain names in some countries?
Justify your answer, ' ‘

(4 marks)




[image: image5.png]A recféat'i'qp‘ centre provides several leisure facilities such as tennis courts and barbecue sites for its
members. The centre is open daily from 9 a.m.to 11 p.m. The following database files are used to store
the information of members, facilities and reservations by members.

Database file MEM

- Field name -'Width ‘ Description Example of data
I _[MEMID | Character | 6 |Member identity number [123456
Name of the member

Database file FAC

- Width Description ' Example of data

| |FCODE | Character | 3 [Facilitycode  [r02 |
2 |[FTYPE | Character | 30 [Type of facili
3 _IRATE | Numeric [ 3 |Chargeperhowr  [40— —— |

Database file RES

Example of data
A member with member identity
Field name Description : number '123456’ reserves the
Sacility with Code 'T02'
Jrom 11 am. to2p.m. on
31st December 2003.

1 [MEMID | Character | 6 [Memberidentity number [123456 - = |
3 |obATE [ Date | 8 [Dateofuse  [31/12/03 |

RES stores the information of the reservations by members in 2003.'

Wfite SQL commands to ‘con‘lplete the folloWiﬁg tasks:

“(a) .List the names of members, without ‘du,plicates, who have reserved one or more of the facilities on
21/09/03. ‘ '
(3 marks)

(b) Output the names of members who have not reserved any facilities of the centre.

! (3 marks)
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The members will be billed monthly for reserving the facilities in the centre. The charge of each
facility is calculated by the following formula:

Charge = (END - START) x RATE
Where * START represents the start time

END represents the end time
RATE represents the charge per hour

" List the names of members, and the total amount of the charge in September for those members who

are billed for more than $1000 in this month. The records in the list should be arranged in

~descending order of the total amount.

(5 marks)

There are two soccer pitches with facility codes, 'S01' and 'S02", inthe centre. Output the dates
on which the two soccer pitches are both reserved.

(4 marks)

There are many barbecue sites in the centre. The first character of the facility code of all barbecue
siteis 'Q'. Output the facility codes of the barbecue sites which are not reserved during the time
period from 6 p.m. to 9 p.m. on 21/09/03.

(5 marks)
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